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(i) 

ii) 

(i) -:7 HR7I À12 Tgaia ra& 

iv) 

(o) 

(ui) -7: 7 HAT 24 À 26 7 PaTU, EA TT HTea 3TATRa AA 

(vii) 

(ix) 
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General Instructions 

Please read the following instructions carefully and follow them: 

( This question paper contains 30 questions. All questions are 

compulsory. 
(i) uestion paper is divided into FIVE Sections - Section A, B, C, D & 

E 

(ii) In section A Question number 1 to 12 are Multiple Choice (MCQ) type 

Questions. 

iv) In section B - Question nunmber 13 to 18 are Short Answer (SA) ype 

questions carrying 2 marks each. Answer to these questions should not 

exceed 50 words. 

In section C Question number 19 to 23 are Long Answer (LA) type (v) 
questions carrying 4 marks each. Answer to these questions should not 

exceed 100 words each. 

In section D -Question number 24 to 26 are passage, cartoon and map-
(vi) 

based questions. 

vii) In section E - Question number 27 to 30 are also Long Answer type 

questions carrying 6 marks each. Answer to these questions should not 

exceed 170 words. 

(vii) There is no overall choice in the question paper. However, an internal choice 

has been provided in few questions. Only one of the choices in such 

questions has to be attempted. 

(1x) In addition to this, separate instructions are given with each section and 
(ix) 

question, wherever necessary. 
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s- 1 

1. 

(b) faarT zika faesra 
(a) F HNT 

(d) c)fers fsr 

1 
2 

(ii)T ATH HT 

(a) ). Gi),. Gi), 6v) 

b) i), (ii), iv), ) 

i), Gv), G), (i) 

(d) i), iv), ), (i) 

1 3. 

(a) 

(b) 

(c) 

(a) 
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SECTION - A 

1. l in the following blank with an appropriate term from among the 

following: 
means the progress that meets the needs of the present 

generation without compromising the need of future generation. 

(a) Global commons (b) Development without destruction 

(c)Sustainable development (d) Politics of developed nations 

Arrange the following in the chronological order 2. 

) Appointment of Lal Bahadur Shastri as Prime Minister. 

(i) Tashkent Agreement 

(iii) The fourth General Elections. 

(iv) Election of V.V. Giri as the President of India. 

Choose the correct option: 

(a) ), i), (ii), (iv) 

(b) (i), Gii), (iv), (G) 

(c) (i), Giv), ), (Gi) 

(d) i), (iv), (), (ii) 

3. Which one of the following statements about relations between India and 
3. 

Nepal is NOT correet ? 

(a) India and Nepal have a special treaty related to travel and work in 

the other country without Visa. 

b) India shares the river water from Nepal. 

(c) Both countries have democratic form of government. 

(d) Nepal always follows the policies of India. 
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1 
4. 

(a) HETET (b) 
(d) fara raTtA HTGA (c) 

1 
5. 

b) 

(c) 

(d) 

1 
6. 3HR TR HAE E 370 1 4 HHTH f4T T4T ? 

(b) 15 37TT, 2019 

(d) 19 3TA, 2019 

6. 

(a) 26 Aat, 2019 

(c) 9 3TEA, 2019 

1 
7. 

(a) fasra Ha HTse 

b) 
c) 
(d) 

fe T TA (8 VT 9) , z TAi ERA (A) 3M TITT (R) } fafaa fsaT 

8. 

1 5ROT (R) 

(a) (A) 3t (R) ai 4dÈ str (R), (A) A a aTgII 

(b) (A) 3t (R) aAT E (R), (A) Hi TI TTI 
(b) 
(c) (A) HH 3, afA (R) TTRI 

(d) (A) Tm, H(R) TI 
4. Which one of the following is NOT an organ of the United Nations? 
4. 

1 
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(a) General Assembly 
(c) International Court of Justice (d) Wend Heath Organinetim 

b) Becurity ranei 
World Heath rgpninatian 

5. Identify the main reason behind the investmente d MiCa in deiarjin� 

5. 
countries. 
(a) For the welfare of the underprivileged peuple. (b) To increase their own assets and earn proits. (c) For the benefit of other countries. (d) To provide financial support to the developing onantries. 

6. When was Article 370 related to Jammu and Kashmir abolisbeh ? 1 (a) 26 January, 2019 
(c)9 August, 2019 b) 15 August, 201 

(d) 19 August, 2019 

7. Which among the following developmental model had least s=ppAa a India? 

(a) Mixed Model of Development 
b) Bombay Plan 
c)Capitalist Model of USA 
(d) Socialist Model of USSR 

In the questions (8 & 9) given below, there are two statements maried s 
Assertion (A) and Reason (R). Read these statements and choose cne 
correct answer from the given options: 

8 Assertion (A) : During constitutional monarehy in 1990s, the potial 8 
parties and the common people of Nepal wanted to here a 

more open and responsive system of guvernment. 

Reason (R): The King with the help of the army retained fel ouztrnl 

over the government and restricted the erpansie 

democracy in Nepal. 

Options 
(a) Both (A) and (R) are true and (R), is the correet explanation of (A 

b) Both (A) and (R) are true, but (R) is not the correct explanatice of (A 

(c) (A) is true, but (R) is false 

(d) (A) is false, but (R) is true 

9 
PRa 
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1 

(a)(A) 3t (R) ai ti ot (R), (A) A TIT 

(c) (A) , Aa (R) Tmd 

(A)Tm &, dfa (R) TI 

(a) 1970 5 b) 19801 ZT5 

(c) 1990 1TT (d) 200015 

1 

(a) IT b) 

(d) 3.t. TATEAT4T 
(c) 

1 

(a) 

b) 

) 

(d) 
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9. Assertion (A): The United Nations is expected to cope better with the 
Unipolar World. 

Reason (R): After the disintegration of Soviet Union many new 

countries joined the United Nations. 

Options 
(a)Both (A) and (R) are true and (R), is the correct explanation of (A). 
(b) Both (A) and (R) are true, but (R) is not the correct explanation of (A). 
(c) (A) is true, but (R) is false. 

(d) (A) is false, but (R) is true. 

10. The decade of 'Third Democratic Upsurge' in India was 1 

(a) 1970Os (6) 1980s 

(c) 1990s d) 2000s 

1 11. Who among the following was a leader of Nagaland ? 

(a) Laldenga b) Angami Zapu Phizo 

(c) Kazi Dorji (d) E.V. Ramaswami 

1 12. Which one of the following is not the objective of NITI Aayog ? 

(a) To provide strategic input to the development process of India. 

b) To serve as a Think Tank of the Union government. 

(c) To arrange funds for the developmental programmes. (c) 

(d) To put an end to the tardy implementation of the policies. 
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13. 
2x 1 2 

14. 2x1 2 

2 x 1 2 

2x1 2 

2x 1 2 

18. 

2 

T-T 

19. fET 3x fare ya TA-3AT2TTA 27 1T27 74 IETETI }fq 12 x 2 = 4 
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i) 

(a) 1993 (b) 2000 

(c) 2003 (d) 2008 

(a) b) ATfATA 

c) (d) 3T4TR 

(a) ar (b) 
(c) (d) 

T: fAafafea sa sae arfra vdarfetui ferz, FA HEI 24 7:, 4x 1 =4 

(24.1) 

(a) 7 (b) A 

(c) 3HT4T (d) etaA 
(24.2) 

(a) 1995 (b) 1999 

(c) 2003 (d) 2007 

(24.3) WMD I faqa su faieg 
(a) 

(d) 

(24.4) 

(a) HTd a (b) 3vtora frATa 

(c) 
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4x1 4 

) 

(a) 

b)3qrt 
(c) 
(d) tstU 

(a) T-itfaT, FTHE 3tt 3Tafa% 

b)HTH, ATf 3itt tifrs 

(c) 

(d) 

(a) 

(b 
(c) àfrs 3nfes fas4 

(d) aT9T frurae 

(c) 

(d) 
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26. TR fu TY TTHfas tan-qrafa * *n zi/Ti A, B, C am D zrm zun 26. 

4x 1 4 
(i) 

(i) 

(i) 
Civ) 
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4x1 4 
(26.1) 

(26.2) 
(26.3) 

(26.4) 

27. (a) 
6 

(b) 

3x2 6 

28. (a) 1975 ufa 3TYIAAT 4Tta Ts-tifa Faifts fafea ueI FÍ 4AT 3TT 
28. 

3 x2 6 

(b) 

3x 2 6 

29. 

3 x2 6 

3HYaT 

(b) 

3 x 2 6 
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